Evaluate each of the following.
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In the following equations, find the values of x.
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(a) 2°=8 . ) 3¥=27 () =27
(@ 10°=0.01 (e) @)Y =16 6 @»=2
Solve the following exponential equations.
(a) 2x—-3=4x+1 (b) 32x‘ 3x—l =9 |
© 2-2vi=1 @ 3-25=18
Solve the following exponential equations.
(@ 2¥-9-2°+8=0 (b) 3*-10-3"+9=0
() #-3.2*1+8=0 (dy 2%*'4+4=22"34 27
() 3¥%-4.3"241=0 @ 165-5-2%"'+1=0
. Express each of the following surds in its simplest form.
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. Rationalise the denominator for each of the following surds,
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. Without using tables, find the value of each of the following logarithms.
() log, 81 (b) log,,3 (c) log,0.5 (@ log,, 10
(e) log, 0.25 () log,,8 (8) log, 5V5 (h) log, 0.04

Express each of the following as a single logarithm.
(@) log,8-log, 6

(b) 4log,3-log,9

() 2log,5+log 4-~2log 10

@ 3-log,9-210g,6

(©) 2log, () —log, (3

® log, (x+1)-log, (x*-1)

®) % log,, (- 1) + 2 log,, (x— 2)

(h) log, ("~ ¢*) ~log, (p+g) +1log,p~2log, q
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9. Evaluate each of the following.

@ 20832 ) BT (©) (log, 27)(log, @)
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10. Given that log, 2 = a and log, 5 = b, express each of the following in terms of @ and b.

(a) log, 60 (b) log, 6.4 (c) log,, 2
11.  Given that log_ x = p, express each of the following in terms of p.
(8) log, 5x (b) log 5 (c) log, x (@) log 0.2
12. Find the value of x in each of the following equations.
(@ log,x=15 (b) log, x=-0.7 (¢) log,x=22
(d) log,x=0.05 (e) log 65=-6 (B log5=12
13. Solve each of the following equations.
(a) 5°=15 (b) 2**'=0.01 () 10°=0.3
(d 82 =5 (€) 3%=§x+!
14. Solve each of the following equations.
() log, x* +log,4x = 12 (b) log,x+log, (x + 6) =3
() log,x=4 log 3 _ d 2 log, x +3 log 4=7
(e) 3 logsx=2logx8 +5 & 1og5x+logx25 =3
15.  Solve each of the following inequalities.
(a) <9 (b) (4.8y*!'> 36 (c) 3+ < gt
@ 27> @ G <o

16. Find the set of values of x for the following inequalities.
(@ 2%-5029+6 > 0 (Hint: let 2* = »)
(b) €& -3e™ <2 (Hint: multiply both sides by &%)
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